
GPTrack.ai GH200 Manual

Version 1.9 / August 2025

2025 GPT LLC

For the latest information and updates, please see https://GPTrack.ai

Table of contents 

Quickstart………………………………………………………………………………………...2
System specifications…………………………………………………………………………….2
Package Contents ………………………………………………………………………………..3
System Rear I/O………………………………………………………………………………….4
Power Sub-System……………………………………………………………………………….5
BMC……………………………………………………………………………………………...6
Firmware…………………………………………………………………………………………6
Operating system………………………………………………………………………………...6
Drivers…………………………………………………………………………………………...7
Software………………………………………………………………………………………….8
Nvidia Resources………………………………………………………………………………...9
User Guide………………………………………………………………………………………10

1



Quickstart:

Username and password for the BMC:

Username: root
Password: 0penBmc (zero!!!)

Username and password for the preinstalled OS (optional):

Username: x
Password: xy

1.) Install OS

Ubuntu Server for ARM: https://cdimage.ubuntu.com/releases/24.04/release/ubuntu-24.04.2-live-
server-arm64+largemem.iso

2.) Install Nvidia kernel

sudo DEBIAN_FRONTEND=noninteractive apt purge linux-image-$(uname -r) linux-headers-$
(uname -r) linux-modules-$(uname -r) -y

sudo apt update

sudo apt install linux-nvidia-64k-hwe-24.04 -y

sudo reboot

3.) Install Drivers

curl -O https://us.download.nvidia.com/tesla/580.65.06/NVIDIA-Linux-aarch64-580.65.06.run

sudo apt install build-essential

sudo sh 580.65.06/NVIDIA-Linux-aarch64-580.65.06.run

System specifications:

Nvidia GH200 Grace Hopper Superchip
72-core Nvidia Grace CPU
Nvidia H200 Hopper Tensor Core GPU
480GB of LPDDR5X memory with EEC
144GB of HBM3e memory
624GB of total fast-access memory
NVlink-C2C: 900 GB/s of bandwidth
Programmable from 400W to 1000W TDP (CPU + GPU + memory)
2x High-efficiency 2000W PSU

2

https://cdimage.ubuntu.com/releases/24.04/release/ubuntu-24.04.1-live-server-arm64+largemem.iso
https://cdimage.ubuntu.com/releases/24.04/release/ubuntu-24.04.1-live-server-arm64+largemem.iso
https://us.download.nvidia.com/tesla/580.65.06/NVIDIA-Linux-aarch64-580.65.06.run


2x PCIe gen4 M.2 slots on board
2x PCIe gen5 2.5" drive slots (NVMe)
3x FHFL PCIe Gen5 x16
1x USB 3.2 port
1x RJ45 IPMI port
1x Mini display port
1x Micro USB port
Halogen-free LSZH power cables
Stainless steel cage nuts
Air-cooled 6x60mm fans
Rail kit

TPM (optional, SPI mode)
ACPI compliance, S0, S5 support

System rating:
100-120Vac, 50/60Hz, 10A 
200-240Vac, 50/60Hz, 10A

System management: IPMI v2.0 Compliant, on board "KVM over IP" support, Dedicated GbE 
management NIC port from PHY RTL8211FS to BMC
Operating environment:

3



Operating temperature: 0°C to 35°C (41°F to 95°F) at 1829M and up to
50°C at 0M. (No performance drop)
Non-operating temperature: -40°C to 70°C (-40°F to 158°F)
Operating relative humidity: 5% to 85%RH
Non-operating relative humidity: 50% to 93%RH

Package Contents

1x GH200 624GB rack server
2x Power cord
1x Rail kit
1x Stainless steel cage nuts

4



5



6



BMC

How to connect to the BMC:

Connect a network cable to the dedicated IPMI port. Get the IP.

Open browser and enter IP: https://192.168.178.x

Standard username and password for BMC

username: root
password: 0penBmc (zero!!!)

Firmware Update

Download the firmware from https://GPTrack.ai

Select update firmware in BMC to update (use tar file, do not extract).

Operating system

Standard username and password for the preinstalled OS (optional):

username: x
password: xy

Install the OS yourself:

Example Ubuntu (standard):

Download the version you would like to have.

Ubuntu Server for ARM: https://ubuntu.com/download/server/arm

Install with USB stick or over network via BMC (slower).

With older versions (not recommended) you might need to select the HWE kernel. Using the newest 
Nvidia 64k kernel is highly recommended: 

https://packages.ubuntu.com/search?keywords=linux-nvidia-64k-hwe

7

https://ubuntu.com/download/server/arm
https://gptshop.ai/


If you want to install a Nvidia kernel (highly recommened) do it like this:

sudo DEBIAN_FRONTEND=noninteractive apt purge linux-image-$(uname -r) linux-headers-$
(uname -r) linux-modules-$(uname -r) -y

sudo apt update

sudo apt install linux-nvidia-64k-hwe-24.04

sudo reboot

Drivers

There are two main ways to install the Nvidia drivers

1.) Via Nvidia driver installer

Download Nvidia GH200 drivers: https://www.nvidia.com/Download/index.aspx?lang=en-us

Select product type "data center", product series "HGX-Series" and operating system "Linux 
aarch64"

Copy the download url (may change with version and over time)

example:

curl -O https://us.download.nvidia.com/tesla/xxx/NVIDIA-Linux-aarch64-xxx.run (xxx = version 
number)

sudo apt install build-essential

sudo sh NVIDIA-Linux-aarch64-xxx.run -m=kernel-open (xxx = version number)

2.) Via package installer (example Ubuntu)

Check the version if already installed:

cat /proc/driver/nvidia/version

List possible driver for install

For servers:

sudo ubuntu-drivers list --gpgpu

Automatic install (desktop):

sudo ubuntu-drivers install

8

https://us.download.nvidia.com/tesla/xxx/NVIDIA-Linux-aarch64-xxx.run
https://www.nvidia.com/Download/index.aspx?lang=en-us


Installing the drivers on servers

sudo ubuntu-drivers install --gpgpu

You will also want to install the following additional components:

sudo apt install nvidia-utils-xxx-server (xxx = version number)

Alternatively, manual driver installation (using APT)

sudo apt install nvidia-driver-xxx (xxx = version number)

Software

Nvidia CUDA

There are two ways to install Nvidia CUDA

1.) Nvidia installation guide:

https://docs.nvidia.com/cuda/cuda-installation-guide-linux/contents.html

Downlad from:

https://developer.nvidia.com/cuda-downloads?target_os=Linux&target_arch=arm64-sbsa

2.) Via package intaller (example Ubuntu)

sudo apt install nvidia-cuda-toolkit 

sudo apt install nvidia-cuda-dev (optional)

Nvidia resources

Official Nvidia GH200 Manual: https://docs.nvidia.com/grace/#grace-hopper

Official Nvidia Grace Manual: https://docs.nvidia.com/grace/#grace-cpu

Official Nvidia Grace getting started: https://docs.nvidia.com/grace/#getting-started-with-nvidia-
grace

9

https://docs.nvidia.com/grace/#getting-started-with-nvidia-grace
https://docs.nvidia.com/grace/#getting-started-with-nvidia-grace
https://docs.nvidia.com/grace/#grace-cpu
https://docs.nvidia.com/grace/#grace-hopper
https://developer.nvidia.com/cuda-downloads?target_os=Linux&target_arch=arm64-sbsa
https://docs.nvidia.com/cuda/cuda-installation-guide-linux/contents.html


1

Agenda

• Mother Board Key Connector Location

• Product Specification

• System LED Information

• System Assembly Instruction with Superchip SOP

• System Bring Up

• How to enter BIOS Menu

• ME System Overview

• System FW Upgrade User Guide

• System Software Information



2

MCIO Conn. *6

M.2 Board Conn.

BMC Board Conn.

Battery Holder

CG1 Modules Mirror Mezz Connector *2

TPM Board Conn.

FAN Sideband Conn.
IO Board Conn.

BP Side Band Conn.

MB Power Conn.Riser Power 
Conn.

PDB Sideband Conn.

Mother Board Key Connector Location:

USB Debug Conn.

FPGA JTAG Conn.

FW version for DVT Sample:
BIOS Version: 0.02.2436
BMC Version: 0.02.243801
FPGA Version: 0.96
CPLD Version: 0.2.2



3

Product Specification
Specifications 2U

Form Factor / Dimension 2U MGX chassis(W x H x D) : 438mm x 87mm x 900mm (w/ extended cage) 
MB dimension: Micro LEGO Board (210mm x 305.59mm x 2mm)

Superchip Nvidia GH200 Grace Hopper Superchip, up to 1000W 
Up to 480GB of LPDDR5X memory with error-correction code (ECC)

System Memory Including in Superchip

Storage • Up to 2 x 2.5” PCIe Gen5 x4 U.2 NVMe SSD (Directly from MB)
• 2 x M.2 PCIe Gen4 x4 NVMe 22110/2280 SSD (Onboard; for OS usage)

Expansion slots

• 1 x PCIe Gen5 x16 (FHFL, 1RU Type 1 Long, Front right-hand Top side)
• 1 x PCIe Gen5 x16 (FHFL, 1RU Type 1 Long, Front right-hand Down side)
  both with ConnectX-7 200G or BlueField3 200G Card
• 1 x PCIe Gen5 x16 (FHHL, 2RU Type 1 Short, Front middle side) with Broadcom HBA 9500-16i

IO board 
(2RU Type 1-short, Front 
middle side)

• 1 x USB3.2 Gen1x1 Type-A
• 1 x Mini DP (Display Port from BMC)
• 1 x RJ45 GLAN (MGMT)
• 1 x USB2.0 Micro-B (For BMC Debug)
• 1 x ID button/LED
• 1 x PWR button/LED
• 1 x Reset button

Security TPM 2.0 (Infineon SLB9670VQ20)

Fan 6 x 6056mm fan

Power Supply 1+1 2000W Titanium CRPS PSU (Hot plug, Rear side), AC 90V~264V, support redundant under 
AC 220~240V



4

System LED Information



5

System LED Information



6

System LED Information



7

System Assembly Instruction with 
Superchip SOP



Superchip Assembly- Remove the top cover

1. Release the screws of  top cover.  (P.S.  Keep the screws.)

2. Press the both la tches and push the top cover  backwards.

1

2

2



Superchip Assembly- Remove the fan cover & air duct

1

1. Remove the fan cover.

2. Remove the a i r  duct .

 

2



10



11



12



13



14

Superchip Assembly 

Please check your 
direction of Superchip 
module putting onto 
your system. 

Fr
on

t

Rear



15



16



17

System Assembly- Connect Two PWR Cables to Superchip module

Power Conn.

Power Conn.

Power Cable

Power Cable

1. Af ter  Superchip module was insta l led proper ly  in  the system, P lease 

connect  two Power cables in to  rear  power connector  o f  Superchip module.

 



18

NOTICE
• REMOVE TIM & THERMAL PAD PLASTIC SHEET!!!

Please remember to remove plastic sheet before you install the CPU heatsink.
Thank you!

Remove plastic sheet Ready for install



1

2

Superchip Assembly- Assemble the CPU heat sink

1. Use the guide p in  “1”  o f  CPU HS to a l ign wi th  the f ix ing 

holes “1”  o f  superchip .

2. Use the guide p in  “2”  o f  superchip to  a l ign wi th  the f ix ing 

holes “2”  o f  CPU HS .

3.~6.  Use the T15 screwdr iver  to  t ighten the screws of  CPU HS.

Parts List

Item Description Qty Remark

1 Superchip 1

2 CPU Heat Sink 1 6 +/- 0.2 Kgf-cm

2

1
1

2

4

3

5

6

3 4 5 6     → → → 6 +/- 0.2Kgf-cm

Caution: 
Please follow the order to tighten all screws just one 
or two tooths at the first time, and then tighten all 
screws completely at the second time.



20

NOTICE
• REMOVE TIM & THERMAL PAD PLASTIC SHEET!!!

Please remember to remove plastic sheet before you install the GPU heatsink.
Thank you!

Remove plastic sheet Ready for install



1

2

Superchip Assembly- Assemble the GPU heat sink

1. Use the guide p in  “1”  o f  GPU HS to a l ign wi th  the f ix ing 

holes “1”  o f  superchip .

2. Use the guide p in  “2”  o f  superchip to  a l ign wi th  the f ix ing 

holes “2”  o f  GPU HS .

3.~8.  Use the T15 screwdr iver  to  t ighten the screws of  GPU HS.

Parts List

Item Description Qty Remark

1 Superchip 1

2 GPU Heat Sink 1
3 ~ 6: 6 +/- 0.2 Kgf-cm
7 & 8: 4 +/- 0.2 Kgf-cm

2

1

1

2

3

4

6

5

7

3 4 5 6     → → → 6 +/- 0.2Kgf-cm

7 8                  → 4 +/- 0.2Kgf-
cm

8

Caution: 
Please follow the order to tighten all screws just one 
or two tooths at the first time, and then tighten all 
screws completely at the second time.



Superchip Assembly- Install the power cable & air duct

1. Insta l l  the a i r  duct .

 

2

Use the feature of air 
duct to align the 
heatsink.

Make sure the feet of 
air duct DO NOT climb 
on cables.



Superchip Assembly- Install the fan cover & top cover

1. Insta l l  the fan cover.

2. Put  the top cover  on the chassis  and push forward to  insta l l  

i t .

3. Tighten the or ig ina l  screws.

 

31

Make sure the larger hole is 
towards the back.

2

Can press here if it’s not easy 
to insert the top cover into 
the chassis.



24

GH200 Module Removal Steps – TIM Cleaning



25

System Bring Up



26

System Power On Checklist

item Description
1 Check Superchip module was installed well in the system.
2 Check air duck and CPU/GPU heatsink was insatlled well in the system. 
3 Check Two PWR Cables connected to Superchip module.
3 Check all Cables were installed well in the system.
4 Check AC cord has been plugged in your system.

System Power On Check List



27

Power Supply Installation

Please plug in AC 
power cord for 
system power on.

PSU_
0

PSU_
1

AC Input 90V~264V

1. AC input 220V~240V support 1+1 redundant backup.
2. If inserting one PSU only, please must AC input 220V~240V to avoid system 

shutdown.



28

System Power on

USB3.2 
Gen1x1

Mini DP
(VGA)

RJ45
(MGMT)

Micro USB
(BMC Debug)

ID Button

PWR Button

Reset Button

Press PWR Button for System power on

U2_0  
U2_1



29

System Bring up Successfully



30

How to enter BIOS Menu



31

How to Enter BIOS menu
• Press “ESC”  when 

nVIDIA logo appear on 

the display monitor.



32

BIOS menu – Main page



33

ME System Overview



34

ME Outline

• System Overa l l  View

 System Iso View

 System Top View

 System Front  View

 System Rear View

 Bay Conf igurat ion Diagram -  CRPS SKU

• Assembly

 PCB

 Module

 System

• Board Placement

 MB

 Smal l  Board

• Cable Rout ing SOP

• Rai l  K i t  Assembly SOP



438mmSystem ISO View

900mm

87mm

Chassis type : 2U1N
Chassis Dimension: 900mm (L) *438mm (W) * 87mm (H)

Front Rear

System Overall View



Top Cover *1

Fan Module *6

Chassis Base *1

Fan Cover*1

MB *1

MB Tray *1 CRPS PSU *2

CRPS PDB *1
Dummy PSU Cover*2

1RU Type B Bay Dummy *4

Air duct*1

Heatsink *2

TPM *1BMC Module *1

M.2 Module *1

PCIe Module *1
2RU Type B Bay Module-LongFront IO Module *1

2RU Type B Bay Module--Long

2.5” HDD Module*1
2RU Type B Bay Module-Short

System Overall View



System Top View

Front IO Board*1

2.5” HDD BP *1

MB*1

BMC Board *1
M.2 Board *1

2.5" HDD 
*4

PCIe FHHL *1

PCIe FHFL *2

M.2 (2280/22110)*2

60
56

 F
an

 *
6

CRPS PDB *1

CR
PS

 P
SU

 *
2

TPM*1



38

System Front View

2.5" HDD *2

USB 3.2 RJ45

Front IO Board

ID

PWR

Reset

PCIe FHHL *1 PCIe FHFL *2

Mini DP
Micro
USB



39

System Rear View

CRPS PSU *2 1RU Type B Bay Dummy *4

1RU Type C Bay Dummy *1



40

ME Outline

• System Overa l l  View

 System Iso View

 System Top View

 System Front  View

 System Rear View

 Bay Conf igurat ion Diagram -  CRPS SKU

• Assembly

 PCB

 Module

 System

• Board Placement

 MB

 Smal l  Board

• Cable Rout ing SOP

• Rai l  K i t  Assembly SOP



PCB Assembly-MB

1

1

2

3

MB Assembly

Item Description Qty Remark

1 MB 1

2 CG1 Backing Plate 1

3 CG1 Backing Plate Screw 4 6 +/- 0.5 Kgf-cm

1. Insta l l  CG1 backing p la te wi th  4x CG1 backing p la te screws

Mounting Screw Locations



PCB Assembly-M.2 Card

1

1

1

2

3

22110 M.2 Option

2280 M.2 Option

1. Insta l l  2x M.2 s tandoffs  and 2x M2 screws on M.2 Board.
M.2 Board Assembly

Item Description Qty Remark

1 M.2 Board 1

2 M.2 Standoff 2 6±0.5 kgf-cm

3 M2 Screw 2 2±0.2 kgf-cm



1. Insta l l  2x M.2 on M.2 board assembly wi th  2x M.2 screws.

2. Insta l l  M.2 board on M.2 bracket  wi th  2x M3 screws.

M.2 Module Assembly

Item Description Qty Remark

1 M.2 Board Assembly 1

2 M.2 2 Support 2280 and 22110

3 M2 Screw 2 2 +/- 0.2 Kgf-cm

4 M.2 Bracket 1

5 M3 Screw 2 6 +/- 0.5 Kgf-cm

1

3

2
1

4

2

2280 M.2 Option 22110 M.2 Option
5

Module Assembly-M.2 Module Assembly



1. Insta l l  BMC board on BMC bracket  wi th  2x M3 screws.
BMC Module Assembly

Item Description Qty Remark

1 BMC Board 1

2 BMC Bracket 1

3 M3 Screw 2 6 +/- 0.5 Kgf-cm

1 2
1

3

Module Assembly- BMC Module Assembly



2

1

1

3

2

1. Insta l l  1x fan ( take care the fan direct ion and cable 

out let  with fan holder)

2. Tighten the 8PCS tapping screws

3. Repeat  6  t imes to  f in ish assembly

Fan Module Assembly

Item Description Qty Remark

1 Fan Holder 1 Total 6 pcs

2 M5 tapping Screw 8 Total 48 pcs
31 +/- 0.5 Kgf-cm

3 6056 Fan 1 Total 6 pcs

Total 6 sets of fan module.

Module Assembly- Fan Module Assembly

2



1. Insta l l  1x 2.5”  HDD on 1x 2.5”  HDD t ray

2. Repeat  4  t imes to  f in ish assembly

2.5” HDD Carrier Assembly

Item Description Qty Remark

1 2.5” HDD 1 Total 4 pcs

2 2.5” HDD Tray 1 Total 4 pcs

1

2

1

Total 4 sets of 2.5” HDD Carriers.

Module Assembly- 2.5” HDD Module Assembly-1



3.    Insta l l  2 .5”  HDD BP on 2.5”  HDD Cage wi th  1x thumbscrew.

4.    Insta l l  4x 2.5 HDD Carr ier.

2.5” HDD Module Assembly

Item Description Qty Remark

1 2.5” HDD BP 1 6 +/- 0.5 Kgf-cm

2 2.5” HDD Carrier 4

3 2.5” HDD Cage 1

1

2

3

4

3

Module Assembly- 2.5” HDD Module Assembly-2



1. Insta l l  IO Board on IO cage base and f ix  by 1x thumbscrew.
IO Cage-PCB Assembly 

Item Description Qty Remark

1 IO Board 1 6 +/- 0.5 Kgf-cm

2 IO Cage Base 1

1

1

2

Module Assembly- IO Module Assembly-1 



1. Insta l l  3x PCIe card cable wi th  IO cage top assembly by 6 x  

screw M3x8L and 3 x  screw M3x3L.

2. Insta l l  3x PCIe card wi th  3 x  screw #6-32 5L.

IO Cage- PCIe Card Assembly

Item Description Qty Remark

1 IO Cage Top 1

2 Riser card cable 3

3 Screw M3x8L 6 6 +/- 0.5 Kgf-cm

4 Screw M3x3L 3 6 +/- 0.5 Kgf-cm

5 PCIe card 3

6 Screw #6-32 5L 3 9 +/- 0.5 Kgf-cm

1

2

3

1

Module Assembly- IO Module Assembly-2 

2

4

5

6



1. Assemble the BKT s ide wi th  IO Cage Top by 3x M2 screw 

and 1x M3 screw.

2. Assemble the GPU extender  wi th  IO cage by 4x M3 screw.

IO Cage- BKT & Extender Assembly

Item Description Qty Remark

1 IO Cage Top 1

2 BKT Side 1

3 Screw M2x4L (Flat) 3 2 +/- 0.2 Kgf-cm

4 Screw M3x4L (Flat) 5 6 +/- 0.5 Kgf-cm

5 GPU Extender 1

3

4

1

1

Module Assembly- IO Module Assembly-3 

1

2

4

5

2

1



1. Assemble the IO cage Top wi th  IO cage base 

2. Using 5x M3 screw to f ix  IO cage Top and Base.

IO Module Assembly

Item Description Qty Remark

1 IO Cage Top 1

2 IO cage Base 1

3 Screw M3x4L (Flat) 5 6 +/- 0.5 Kgf-cm

3

1

2

Module Assembly- IO Module Assembly-4 

2

2

2

1



1. Insta l l  4x r iser  card cable on GPU bracket  wi th  8x screw 

M3x8L ( B  H e a d )  and 4x screw M3x3L.

2. Insta l l  4x PCIe card by 4x #6-32 5L screw.

GPU Module-PCIe Card Assembly

Item Description Qty Remark

1 Riser Card cable 4

2 GPU Bracket 1 13S1-58B0301

3 PCIe Card 4

4 M3x8L Screw (B Head) 8 6 +/- 0.5 Kgf-cm

5 M3x3L Screw 4 6 +/- 0.5 Kgf-cm

6 #6-32 5L Screw 4 9 +/- 0.5 Kgf-cm

3

5

2

1

1
4

2

Module Assembly- GPU Module Assembly-1

6



GPU Module Assembly

Item Description Qty Remark

1 GPU Bracket Assembly 1

2 GPU Cage 1

3 GPU Extension Bracket 2

4 M3x4L Screw (Flat) 14 6 +/- 0.5 Kgf-cm

3.  Insta l l  GPU Bracket  Assembly on GPU Cage wi th  6x M3x4L 

screws ( f l a t ) .

4 .  F ix  GPU extension bracket  by 8x M3x4L screws ( f l a t ) .  

3

1

2

3

4

Module Assembly- GPU Module Assembly-2

4

4



1. Insta l l  1x MB assembly wi th  6x M3x4.5L screws.

2. Insta l l  CRPS PDB wi th  4x M3x4.5L screws.

PCBA Assembly

Item Description Qty Remark

1 MB Assembly 1

2 CRPS PDB 1

3 M3x4.5L Screw 10 6 +/- 0.5 Kgf-cm

1

2

2

1

3

System Assembly- PCBA Assembly

Mounting Screw Locations



1. Insta l l  M.2 Module wi th  2x M3x5L screws ( B  H e a d ) .

2. Insta l l  BMC Module wi th  2x M3x5L screws ( B  H e a d ) .

M.2 Module/ BMC Module Assembly

Item Description Qty Remark

1 M.2 Module 1

2 BMC Module 1

3 M3 Screw (B Head) 4 6 +/- 0.5 Kgf-cm

1
2

3

2

1

Mounting Screw Locations

System Assembly- M.2 Module/ BMC Module Assembly



1. Insta l l  TPM wi th  1x M3x5L screws ( B  H e a d ) .

2. Insta l l  CG1 wi th  4x CG1 screws.

3. Insta l l  CPU/GPU HS.

TPM/ CG1/ HS Assembly

Item Description Qty Remark

1 TPM 1

2 M3 Screw 1 6 +/- 0.5 Kgf-cm

3 CG1 1

4 CG1 Screw 4 6 +/- 0.5 Kgf-cm

5 CPU/GPU HS 2 6 +/- 0.5 Kgf-cm

3

1
2

4

5

2

3

1

HS InstallationCG1 Installation

System Assembly- TPM/ CG1/ HS Assembly



1. Insta l l  1x 2.5”  HDD module.

2. Insta l l  1x IO module.

3. Insta l l  1x GPU module.

4. Insta l l  2x PSU.

Modules and PSU Assembly

Item Description Qty Remark

1 2.5” HDD Module 1

2 IO Module 1

3 GPU Module 1

4 PSU 2

1
2

4

1
4

2

System Assembly- 2.5” HDD/ IO /GPU Modules and PSU

3

3



1. Insta l l  6x fan module
Fan Module Assembly

Item Description Qty Remark

1 Fan Module 6

1

1

System Assembly- Fan Module Assembly

Fan modules direction and location

Air flow



1. Insta l l  1x a i r  duct .

2. Insta l l  1x fan cover.

1

1

Air Duct Assembly

Item Description Qty Remark

1 Air Duct 1

2 Fan Cover 1

2

System Assembly- Air Duct /Fan Cover Assembly

2



1. Insta l l  1x f ront  top cover

2. F ix  by 2x M3 Screw (F la t )

Top Cover Assembly

Item Description Qty Remark

1 Top Cover 1

2 M3 Screw (Flat) 2 6 +/- 0.5 Kgf-cm

1
2

1

2

System Assembly- Top Cover Assembly



61

ME Outline

• System Overa l l  View

 System Iso View

 System Top View

 System Front  View

 System Rear View

 Bay Conf igurat ion Diagram -  CRPS SKU

• Assembly

 PCB

 Module

 System

• Board Placement

 MB

 Smal l  Board

• Cable Rout ing SOP

• Rai l  K i t  Assembly SOP



62

Mother Board

 Dimension: 305.59mm (L)* 210mm (W)* 2mm (T) 

210mm

305.59mm



63

BMC Board

 Dimension: 96.49mm (L)* 31mm (W)* 1.57mm (T) 

96.49mm

31mm



64

M.2 Board

 Dimension: 146.5mm (L)* 31mm (W)* 1.6mm (T) 

146.5mm

31mm



65

CRPS PDB

 Dimension: 106mm (L)* 153.78mm (W)* 2mm (T) 

153.78mm

106mm



66

IO Board

 Dimension: 110mm (L)* 82mm (W)* 1.6mm (T) 

82mm

110mm



67

TPM Board

 Dimension: 32.5mm (L)* 13mm (W)* 1mm (T) 

13mm

32.5mm



68

ME Outline
• System Overa l l  View

 System Iso View

 System Top View

 System Front  View

 System Rear View

 Bay Conf igurat ion Diagram -  CRPS SKU

• Assembly

 PCB

 Module

 System

• Board Placement

 MB

 Smal l  Board

• Cable Rout ing SOP

• Rai l  K i t  Assembly SOP



1. Accord ing rout ing          assemble fan power cable.

SKU1 Cable Assembly-1 (Fan)

Order Cable Name Qty

1 Fan Power Cable 6



1. Accord ing rout ing          assemble C4 BP power cable.

2. Accord ing rout ing          assemble C28 HBA s ideband cable,  BP MCIO1 need to  connect  HBA C0 ( label  

b lack text  on purp le  background) .

3. Accord ing rout ing          assemble C29 HBA s ideband cable,  BP MCIO2 need to  connect  HBA C1 ( label  

b lack text  on whi te  background) .

4. Accord ing rout ing          assemble C5 BP Sideband Cable ( label  b lack text  on b lue background) .

Note:  C4 need to  be buckled c lamp1.

SKU1 Cable Assembly-2 (BP)

Order Item Cable Name Qty
1 C4 PDB to BP Power Cable(6 pin) 1

2 C28 HBA to BP signal cable-1 1

3 C29 HBA to BP signal cable-2 1

4 C5 MB to BP Sideband Cable 1

2
3

4

5
6

M
C

IO
2

M
C

IO
1

1

Clamp1

HBA

C
0

C
1

 
MCIO2 MCIO1

BP position

2

3

1

4

MCIO2 MCIO1

BP position

C4

C29

C5
C28



1. Accord ing rout ing          assemble IO power cable.

2. Accord ing rout ing          assemble IO Sl imSAS cable( label  b lack text  on ye l low background) .

SKU1 Cable Assembly-3 (IO)

2

1

Clamp1

IO

Item Cable Name Qty

C1 1414-0EMX000 PDB to IO Power Cable(2 pin) 1
C2 1414-0END000 MB to IO SlimSAS Cable 1

IO position

C1 C2

C
lam

p2



Item Cable Name Qty

1 C14-1 MB to BF3 Riser  Power Cable(6 pin) 1
3 C11-1 MB to Upper Riser  Power Cable(6 pin)

2 C12-1 MB to Lower Riser Power Cable(6 pin) 1

SKU1 Cable Assembly-4 (Riser power)
1. Accord ing rout ing          assemble C14 MB to BF3 Riser  Power Cable connect  to  s lo t1.

2. Accord ing rout ing          assemble C11 MB to Upper Riser  Power Cable connect  to  s lo t2.

3. Accord ing rout ing          assemble C12 MB to Lower Riser  Power connect  to  s lo t3.

Note:  C11-1,C12-1 and C14-1 a l l  need to  be buck led c lamp2.

2
3

4

5
6

M
C

IO
1

M
C

IO
0

1

1

Clamp1

C14

C11
C12

1
2
3

2 3

C
lam

p2



Item Cable Name Qty

1 C14-2 MB to BF3 Riser MCIO Cable 1
2 C12-2 MB to Lower Riser MCIO Cable 1

3 C11-2 MB to Upper Riser MCIO Cable 1

SKU1 Cable Assembly-5 (Riser MCIO)
1. Accord ing rout ing          assemble C14 MB to BF3 Riser  MCIO Cable,  Riser  P1 (Whi te  text  on b lack 

background)connect  to  MCIO SLOT3_1 ,  Riser P2 (B lack text  on whi te  background)  connect  to  MB MCIO SLOT3_2 .

2. Accord ing rout ing          assemble C12 MB to Lower Riser  MCIO Cable,Riser  P1(Whi te  text  on b lack background)  

connect  to  MB MCIO SLOT1_1,Riser  P2 (B lack text  on whi te  background)  connect  to  MB  MCIO SLOT1_2 .  M

3. Accord ing rout ing          assemble C11 MB to Upper Riser  MCIO Cable,Riser  P1(Whi te  text  on b lack background)  

connect  to  MCIO SLOT2_1 ,Riser P2 (B lack text  on whi te  background)  connect  to  MB MCIO SLOT2_2 .

4. CIO

2 P2 to MCIO SLOT3_2
3 P1 to MCIO SLOT2_1

4 P2 to MCIO SLOT2_2

5 P1 to MCIO SLOT1_1
6 P2 to MCIO SLOT1_2

M
C

IO
2

M
C

IO
 1

  
   

   
   

  

1 P1 to MCIO SLOT3_1

2

1

C14

C11
C12

1
2
3

3

(P1:Label white text on black background;P2: Label black 
text on white background)

Clamp1



Item Cable Name Qty

1 1414-
0EN4000 MB to PDB Sideband Cable 1

2 1414-
0EN1000 PDB to MB Power Cable(18 pin) 1

SKU1 Cable Assembly-6 (MB signal & power)
1. Accord ing rout ing          assemble C9 MB to PDB Sideband Cable.

2. Accord ing rout ing          assemble C8 PDB to MB Power Cable(18 p in) .

2
1



Item Cable Name Qty

1 C3 PDB to CG1 Power Cable(16 pin) 2
2 Instrusion Cable 1

SKU1 Cable Assembly-7 (CG1 power)

1. Accord ing rout ing          assemble C3 PDB to CG1 Power Cable(16 pin).
2.  Accord ing rout ing          assemble Inst rus ion Cable.

2
3

4

5
6

M
C

IO
1

M
C

IO
0

1

C14

C11
C12

2

1



1. Accord ing rout ing          assemble fan power cable.

Note:Cable insta l la t ion nearby.

SKU2 Cable Assembly-1 (Fan)

Order Cable Name Qty

1 Fan Power Cable 6



1. Accord ing rout ing          assemble C4 BP power cable.

2. Accord ing rout ing          assemble C26 BP MCIO cable,  BP MCIO1 need to  connect  SLOT1_1(P1:  label  b lack 

text  on purp le  background) ;BP MCIO1 need to  connect  SLOT1_2(P2:  label  b lack text  on whi te  background) .

3. Accord ing rout ing          assemble C5 BP s ideband cable.  ( label  b lack text  on b lue background) .

Note:  C4 need to  be buckled c lamp2 & C26 need to  be buck led c lamp1.

SKU2 Cable Assembly-2 (BP)

Order Item Cable Name Qty
1 C4 PDB to BP Power Cable(6 pin) 1

2 C26 MB to BP MCIO Cable 1

3 C5 MB to BP Sideband Cable 1

2
3

4

5 P1 MCIO SLOT1_1
6 P2  MCIO SLOT1_2

M
C

IO
2

M
C

IO
1

1

2

1

Clamp1

MCIO2 MCIO1

BP position

C
lam

p2

3

C4

C26
C5



1. Accord ing rout ing          assemble C1 IO power cable.

2. Accord ing rout ing          assemble C2 IO Sl imSAS cable( label  b lack text  on ye l low background) .

SKU2 Cable Assembly-3 (IO)

2
3

4

5
6

M
C

IO
1

M
C

IO
0

1

2

1

IO

Item Cable Name Qty

1 C1 PDB to IO Power Cable(2 pin) 1
2 C2 MB to IO SlimSAS Cable 1

IO position

C1 C2

Clamp1



Item Cable Name Qty

1 C12-1 MB to Lower Riser  Power Cable(6 pin) 1
2 C11-1 MB to Upper Riser  Power Cable(6 pin) 1

SKU2 Cable Assembly-4 (Riser power)
1. Accord ing rout ing          assemble C12 MB to Lower Riser  Power Cable connect  to  s lo t2.

2. Accord ing rout ing          assemble C11 MB to Upper Riser  Power Cable connect  to  s lo t1.

Note:  C11-1and C12-1 a l l  need to  be buck led c lamp2.

2
3

4

5
6

M
C

IO
1

M
C

IO
0

1

2

Clamp1

C11

C12

1
2
3

1

C
lam

p2



Item Cable Name Qty

1 C12-2 MB to Lower Riser  MCIO Cable 1
2 C11-2 MB to Upper Riser  MCIO Cable 1

SKU2 Cable Assembly-5 (Riser MCIO)
1. Accord ing rout ing          assemble C12 MB to Lower Riser   MCIO Cable,  Riser  P1connect  to  MCIO 

SLOT2_1 (Whi te  text  on b lack background) ,  Riser P2 connect  to  MCIO SLOT2_2 (B lack text  on whi te  

background) .

2. Accord ing rout ing          assemble C11 MB to Upper Riser  MCIO Cable,  Riser  P1connect  to  MCIO 

SLOT3_1 (Whi te  text  on b lack background) ,  Riser P2 connect  to  MCIO SLOT3_2 (B lack text  on whi te  

background) .

2 P2 to MCIO SLOT3_2
3 P1 to MCIO SLOT2_1

4 P2 to MCIO SLOT2_2M
C

IO
2

M
C

IO
1

1 P1 to MCIO SLOT3_1

1

2

Clamp1

C11

C12

1
2
3

(P1:Label white text on black background;P2: Label black 
text on white background)



Item Cable Name Qty

1 C13 PDB to BF3 Riser card Power Cable(8 
pin)

1or2

SKU2 Cable Assembly-6 (For BF3 power)

1. Accord ing rout ing          assemble C13 PDB to BF3 Riser card Power Cable(8 pin)for 
lower/upper layer .

Note:  C13 need to  be buck led c lamp2.

2
3

4

5
6

M
C

IO
2

M
C

IO
1

1

C11
C12

BF3

Clamp1

C
lam

p2

1



Item Cable Name Qty

1 C9 MB to PDB Sideband Cable 1
2 C8 PDB to MB Power Cable(18 pin) 1

SKU2 Cable Assembly-7 (MB signal & power)
1. Accord ing rout ing          assemble C9 MB to PDB Sideband Cable.

2. Accord ing rout ing          assemble C8 PDB to MB Power Cable(18 p in) .

Note:  C8&C9 need to  be buck led c lamp2.

2
3

4

5
6

M
C

IO
1

M
C

IO
0

1

1
2
3

2
1

C
lam

p3



Item Cable Name Qty

1 C3 PDB to CG1 Power Cable(16 pin) 2
2 Instrusion Cable 1

SKU2 Cable Assembly-8 (CG1 power)

1. Accord ing rout ing          assemble C3 PDB to CG1 Power Cable(16 pin).
2.  Accord ing rout ing          assemble Inst rus ion Cable.

2
3

4

5
6

M
C

IO
1

M
C

IO
0

1

2

1



JIMBO 
Rail Kit Assembly SOP



MGX 2U Rail Kit Content



2PCS of Rail/Hardware Kit



Demonstration of universal tool-less Bracket for Square, round and threaded hole 
racks 





Prepare Rail Kit For Installation



Step1: Remove the inner rail to assemble to side of chassis



Step2: Retrace middle rail and ready for installation onto rack 
post



Step3: Slide the rear bracket open



Step4: Fix the rear bracket to the rack post



Step5: Fix the front bracket to the rack post



Insert The Chassis to Complete 
The Installation



Step1: Pull the middle rail fully extended in lock position



Step2: Insert chassis to middle rail



Remove Chassis And Rail Kit 
off The Rack



Step1: Remove the chassis and rail kit off the rack



Step2: Retract middle rail and ready to remove off rack post



Step3: Remove the rail kit off rack



102

System FW Upgrade User Guide 



103

FW Upgrade User Guide

• Environment Setup

• BMC Firmware Update User Guide

• BIOS Firmware Update User Guide



104

● prerequisi te

1. BMC and BIOS f i rmware f i les

2. Setup network communicat ion between BMC and your laptop
 As defaul t ,  BMC acquires IP address with DHCP protocol ;  prepare two ethernet 

cables,  and one router(with DHCP server)

3. You can check BMC IP address through one of the fol lowing methods

a. Console:  use i fconf ig to check BMC IP address,  prepare the fo l lowing software tool :  

i. Windows version:  “put ty” ,  avai lable here:  

ht tps: / /www.chiark.greenend.org.uk/~sgtatham/putty/ latest .html )

ii. Linux version: “minicom” 

b. Display Monitor:  When the host boots up, the BMC IP address wi l l  appear on the 

display monitor;  prepare the fo l lowing devices: 

i. display port  cable and monitor

Environment Setup (1/7)



105

Environment Setup (2/7)

mini 
DP

RJ45
micro 
USB

console

ethernet

display



106

Environment Setup (3/7)

● Setup console: 

○ Windows version: 1. veri fy COM port



107

Environment Setup (4/7)

● Setup console: 

○ 2. use putty to connect COM port



108

Environment Setup (5/7)

● Setup console:

○ Linux version: 1. check console port  ( there wil l  be 2 ports, and use the smaller one)

○  2. use minicom to connect console

● Note: If you are using a Windows laptop to perform 

firmware updates, please ignore this page and log in to 

BMC directly.



109

Environment Setup (6/7)

● login to BMC with username/password :  root/0penBmc (Please note that “0” is zero)

● use i fconf ig to check BMC IP address



110

Environment Setup (7/7)

● Use Display monitor to check IP 

IP address

● Now you can access BMC 
webpage: https://[IP address]



111

FW Upgrade User Guide

• Environment Setup

• BMC Firmware Update User Guide

• BIOS Firmware Update User Guide



112

BMC firmware update (1/6)

● login Jimbo’s web-UI

Username: root

Password: 0penBmc

• Please note that the password “0” is zero



113

Login>Operat ions>Firmware>Add f i le>Start update

BMC firmware update (2/6)

1. Cl ick “Add f i le” 

2. selected . tar f i le

3. Cl ick “Start  update” 

BMC f irmware version 



114

BMC firmware update (3/6)

● press “Start update” for 
conf irmation.

● Note: Please do 
not cut off the 
power during the 
update process.



115

BMC firmware update (4/6)

● Wait unt i l  f i rmware 
updated veri fy 
not i f icat ion.

● The ent ire update 
process takes about 6 
minutes



116

BMC firmware update (5/6)

● press “Refresh” to 
reload webpage after 
updated successful ly



117

BMC firmware update (6/6)

BMC f irmware version 

● Check firmware 
version after 
updated



118

FW Upgrade User Guide

• Environment Setup

• BMC Firmware Update User Guide

• BIOS Firmware Update User Guide



119

BIOS firmware update (1/9)

● Check BIOS f i rmware version before update:

ipmitool -C 17 -I  lanplus -H [BMC IP ADDR] -U [BMC Username] -P [BMC Password] mc 
getsysinfo system_fw_version

example: 

● Note: BIOS firmware cannot be downgraded



120

BIOS firmware update (2/9)

● login Jimbo’s web-UI

Username: root

Password: 0penBmc

• Please note that the password “0” is zero



121

1. Cl ick “Add f i le” 

2. selected . fwpkg f i le

3. Cl ick “Start  update” 

BIOS firmware update (3/9)



122

BIOS firmware update (4/9)

● Press “Start  update” for 
conf irmation

Note1:Please do not cut off 

the power during the update 

process.

Note2:The pop-up message 

will be updated for future 

release.



123

BIOS firmware update (5/9)

● Wait unt i l  f i rmware 
updated veri fy 
not i f icat ion.

● The ent ire update 
process takes about 6 
minutes.



124

BIOS firmware update (6/9)

● after receive f irmware 
updated successful ly 
not i f icat ion, restart 
Host.



125

BIOS firmware update (7/9)
Power>Operat ions>Server power operat ions>Reboot

Click “Reboot” 



126

BIOS firmware update (8/9)

● Press Confirm and 
wait  for Host 
restart  complete 
(about 1 minute).



127

BIOS firmware update (9/9)

● check BIOS f irmware version after Host restarted:



128

System Software Information



129

Installing the Nvidia Grace Software with Ubuntu 22.04 

● Please f ind below l ink – https:/ /docs.nvidia.com/grace-ubuntu-instal l -guide.pdf for Nvidia 
Grace Software instal lat ion guide.

● The VGA Driver and GH200 Hopper Driver need to be instal led after OS instal led. 
- VGA Driver -  ASPEED - Drivers Download (aspeedtech.com)
- GH200 Hopper Driver -  CUDA Instal lat ion Guide for Linux (nvidia.com)

https://docs.nvidia.com/grace-ubuntu-install-guide.pdf
https://www.aspeedtech.com/support_driver/
https://docs.nvidia.com/cuda/cuda-installation-guide-linux/#driver-installation

